Tuesday

Today we are going to be focusing on finding the difference. When we fmdjhgjlﬂm&z and work out how
much more or less someone has, we need to subtract. Remembe ' ' ' '

Charlie Jessica Becky

a) How much more does Jessica have than Becky? £ll - £6 = £5. The answer is £5.
b) What is the difference between Charlie’'s and Jessica’s amount of money’ £15 - £Il = £k
c) What is the difference between Becky and Charlie’s savings? £15 - £6 - £9

9 25p L. 2) Work out the difference between the price of the sweet and

g 45p

chocolate and fill in the missing numbers in the number sentence.

L 5p - 25p = | 20p

3) Bilal has these coins. He wants to buy a toy car for 80p. How much more money does he need?

80p — 67p = 13p
Bilal needs 13p more. 8OP

L) Find the difference between these amounts.

a) Bob has 63p. Amy has 75p. The difference is |2p

b) Roy has £li+ and Sita has £30. The difference is £16

c) Mr Cook has £2 and 50p. Miss Skinner has £l and 50p. The difference is £l

d) Miss Goodwin has £10 and 20p and Miss Campbell has £9 and 10p. The difference is £l and 10p

¢) Mr Rossetti has 80p and Miss Mahamood has £l. The difference is 200 (because 1000 = £l rememberl)

5) Mr Webster tried to find the difference between £35 and £50.

What mistake has he made? The mistake is Mr Webster added the
numbers when he should have subtracted to find the difference. 50 — 35 = £15

He said 35 + 50 = £85
so £85 is the difference.”




